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1. Answer the following questions : 1x8=8

(@) Write any one need for a sociological
approach in Education.

(b) State a feature of structural
functionalism as a theory of
educational sociology.

(/ Who developed the concept of
‘cultural lag?

(d) Name the types of social mobility.
s
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(e)

(9)

(h)

(2)

Write any one indicator of economic
development of a country.

Mention any one means of human
resource development of a country.

Write any one problem of community
development in North-East India.

Mention any one cause of social
disorganization.

2. Write short notes on the following : 4x4=16

(@)

(b)
()
(@)

Consensus theory of educational
sociology

Characteristics of socialization process
Factors that promote social mobility

Role of education for a democratic
pattern of society

3. What is Educational Sociology? Write the
functions of educational sociology. 3+7=10

Or

Describe the conflict theory of educational
sociology. Discuss the implications of this
theory with the help of an example in an
educational setting. 5+5=10
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(3)

4. What is meant by Socialization? Explain the
role of family and school in the process
of socialization. 3+8=11

Or

What is meant by National Integration?
Discuss the role of education in emotional
and national integration. 3+4+4=11

5. What is Human Resource Development?
Discuss the role of education in the human
resource development of a country. 2+6=8

Or

“Education is a powerful instrument for
social change.” Explain. 8

6. (a) What are the characteristics of
Totalitarianism? 6

(b) Explain the role of education in creation
of a secular society. 6

7. (@) What is a social group? Write the
characteristics of primary groups in
a society. 2+5=7

() What are the problems of women’s
education in North-East India? Mention
some measures to overcome these
problems. 4+4=8
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